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Name Class Date
3 5 Practice (continued) Form G
N
Standard Form
Write each equation in standard form using integers.
21, y=x-4 22, y—-4=5(x-8)
23, y+6=-3(x+1) 24. y:__g_ﬁz
_ _ 7
25, y=—x-10 26. y-3=-—(x+4)
2 9
27. You have only nickels and dimes in your piggy bank. When you run the coins through
a change counter, it indicates you have 595 cents. Write and graph an equation that
represents this situation. What are three combinations of nickels and dimes you could
have? What are reasonable domain and range values for your function in terms of this
real-world situation? What is the zero of the function and what does it mean in this
situation?
For each graph, find the slope and x- and y-intercepts. Then write an equation in '
standard form using integers. .. -
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Find the x- and y-intercepts of the line that passes through the given points.
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